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1 import jp.ac.ryukoku.math.cards.*;

2

3 class Q01 {

4 public static void main(String[] args) {

5 GameFrame frame = new GameFrame();

6 Deck deck = new Deck();

7 frame.add(deck, 100, 100);

8 Pile[] piles = new Pile[4];

9 for (int i = 0; i < piles.length; i++) {

10 | (a) | 7/ Pile DA ¥ ALY A% HER L TR
11 frame.add(piles[i], 120 + i * 160, 380);

12 }

13 | (b) | 1/ Forrvev TN

14 while (| (c) ) L /) FYFEH—FDBES>TOBHY O IERT
15 Card card = deck.pickUp();

16 card.faceUp();

17 for (] (d) \) { // EFIFHDHK Pile IZDWTHEDIRT
18 if (p.isEmpty() || p.top().suit == card.suit) {

19 card.moveTo(p) ;
20 break;
21 ¥
22 b
23 }
24 }
25 }
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Q02. java —
1 import jp.ac.ryukoku.math.cards.*;
2
3 class P {
4 Rank r = Rank.ACE;
5 Rank s = Rank.DEUCE;
6
7 void set(Rank r) {
8 this.r = r;
9 }
10
11 Rank get() {
12 return r;
13 }
14 }
15
16 class Q extends P {
17 Rank get() {
18 return s;
19 }
20 }
21
22 class R extends P {
23 void set(Rank s) {
24 this.s = s;
25 }
26
27 Rank get() {
28 super.set (Rank.THREE) ;
29 return r;
30 }
31}
32
33 class Q02 {
34 public static void main(String[] args) {
35 GameFrame f = new GameFrame();
36
37 P p = new P();
38 Card ¢ = new Card(Suit.HEARTS, p.get());
39 f.add(c, 100, 100);
40 c.faceUpQ);
41 p.set (Rank.FOUR) ;
42 ¢ = new Card(Suit.HEARTS, p.get());
43 f.add(c, 200, 100);
44 c.faceUpQ);
45
46 P q = new QO ;
a7 ¢ = new Card(Suit.HEARTS, q.get());
48 f.add(c, 300, 100);
49 c.faceUpQ);
50
51 P r = new RQ;
52 ¢ = new Card(Suit.HEARTS, r.get());
53 f.add(c, 400, 100);
54 c.faceUpQ);
55 r.set(Rank.SIX);
56 ¢ = new Card(Suit.HEARTS, r.get());
57 f.add(c, 500, 100);
58 c.facelpQ);
59 }
60 }
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class Average {
final double e

Average() {
this(0.0);
}

rr;

private int num =
private double sum

Average(double e) {

0;

= 0.0;

(a)

¥

int add(double d) {

)

}

int count() {

(c)

}

double get() {

(D

}

void reset() {

(e)

Average.java —
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1 () piles[i] = new Pile();
(b) deck.shuffle();
(c) ldeck.isEmpty ()
(d) Pile p : piles
(2)
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err = e;

sum += d;
num++;

return num;

return num;

if (num > 0)
return sum / num;

return err,;

num = 0;

sum = 0.0;
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